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The ratio of the area of a square to that of the square
drawn on its diagonal is:

el o & %A 1 39 &t W Eid T4 a1 &
AFel © U BMT—
(1)1 : 1 2)1:2 3)1:3 (4)1:4
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Find the area of a square whose diagonal is 10

m long.

Te i foaes fawmut & &g 10 m &, ST
SAH T |

(Lower-II 30.09.2019 Shift-I', 10 AM )
(a) 10m’ (b) 50m’
(c) 100m’ (d 110m’

0:45
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The area of a %@r park is 25 km2. What will

time taken to complete a rotation of park with the
speed 3 km/h ?

Uk Sk O o1 &5T%hel 25 o T, |l g1 3 Tt ufd
T i Td | Uk k1 Tk Fahd qU w1 fhad 03
I ?

(1) 4 Hrs. 60 minutes / 4 ¥ 60 <

(2) 4 Hrs. 50 minutes / 4 ¥ 50 fae

(3) 6 Hrs. 40 minutes / 6 ¥¢ 40 T2

(4) 5 Hrs. 40 minutes / 5 ¥¢ 40 e

0:45
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Let A be the area of a square whose each side is 10
cm. Let B be the area of a square whose diagonals
are 14 cm each. Then (A - B) is equal to

AT A T T o o1 &% ¢ Sl Y& S 10 941
21 M B Tk UH o1 R &9%d § f9ge fawol 14 9+

21 @ (A - B) foreer s = 2
(1) 0 (2) 1 (3) 2 (4) 4

0:45




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

PQRS is a square with side 10 cm. A, B, C and D are
mid-points of PQ, QR, RS and SP respectively. Then
the perimeter of the square ABCD so formed is

PQRS, 10 THT sl 9T arel a7 €1 A, B, C 3T’ D HH:
PQ, QR, RS 3R SP & wea-fog &1 @ o ot o
ABCD T UfHTT &1 2?2

(1) 10,2 cm / HH. (2) 20 /2 cm / g,
(3) 25 /2 cm / GHl. (4) 15 /2 cm / EHl.

0:45
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The amount of rice produced in a square field of side
50 m is 750 kg. The amount of rice produced in a
similar square field of side 100 m will be

50 HieX 9T 91 Teh iR ©d H 750 fohim =mae
SIS BId1 21 100 WX 9ol ol Sad & o ©d |
3= 9ge i Al fhat @R ?

(1) 2000 kg / T (2) 3000 kg / f&m

(3) 3500 kg / T (4) 1500 kg / T&m

0:45
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A path of uniform width runs round the inside of a
rectangular field 38 m long and 32 m wide. If the
path occupies 600m?, then the width of the path is

Teh 38 HI. oW a1 32 Hl. IS AR &9 & 3Tl
F 3R IR WF THEHE TSR ool Tk 9§91 T
21 gf 9 1 &%l 600 HI.2 =, df 9¥ I HeR erfi—
(1) 30 m / Hi. (2) 5 m / Hl.
(3) 18.75 m / Hi. (4) 10 m / Hi.

0:45
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How many tiles, each 4 decimetre square, will be re-
quired to cover the floor of a room 8 m long and 6 m

broad ?

g WX ofdl 3R 6 HiX 4l Th FM & HI Hl Thd
faw 4 SHHIX o &F%e drelt sha fhadr 2Eal ol
S ICRpE s I

(1) 200 (2) 260 (3) 280 (4) 300

0:45
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If the diagonal and area of a rectangle are 25 cm and
168 cm? respectively, then what will be the length ?

Ifs fordt 29d & Teh faehol qen &%l &l |19 $H9l: 25
Tl 9er 168 THI2 &, df AFd i @dR fohd-l &2
(1) 31 cm / 99t (2) 24 cm / 9Ht

(3) 17 cm / 9t (4) 7 cm / 9HI

0:45
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The length of a rectangle has been entended 60%.

How much should width be decreased so that areas
remains same ?

TS A HT A 60% TER Te &l TIIUR IHH! <SE
fhat ¥ Al BN, difsh AT 1 &A% STIRAldd

R©?
(1) 37.5%  (2) 60%
(3) 75% (4) None of these / 3&1 | g el

0:45
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The length and breadth of a rectangle are doubled.
Percentage increase in area is

U 3TFd 1 o 3R Aek A X 3 T 81 &Fwd
4 yfqera 9fs €
(1) 150%  (2) 200%  (3) 300%  (4) 400%

0:45
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The length and breadth of a rectangular field are in
the ratio 7 : 4. A path 4 m wide running all around
outside has an area of 416 m? . The breadth (in m) of

the field is
Ueh TR HEH 1 @aTs a1 =eE 7: 4 & Mud |
21 IS TR I X S9E T 4 1. SISl Tk UK, 416

.2 &I 1 81 GEIER, W M i =eE fohad Hie 872
(1) 28 (2) 14 (3) 15 (4) 16

0:45




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The base of a triangle is 15 cm and height is 12 cm.
The height of another triangle of double the area having
the base 20 cm is :

fordt 19 o1 STem 15 991, € 3R o9 12 O €1
T s &1 3= fome ewa 39 IS & ewd
T § 3R SER 20 9L ©, e B

(1) 9 cm / 9. (2) 18 cm / 99,

(3) 8 cm / 9. (4) 12.5 cm / 9.

0:45
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The sides of a triangle are 3 cm, 4 cm and 5 cm.
The area (in cm?) of the triangle formed by joining
the mid points of this triangle is :

fret Brys 1 god 3 9%, 4 9. S 5 G €
s Bgs &t genet & Asafages & fHam 9 &d
19 &1 % (@HL2 H) B

3 3
(1) 6 @3 @, @7

0:45
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The area of a field in the shape of a trapezium

= )y ./ .
measu he perpendicular distance

between TS parafiel sides is 24 m. If the ratio of the

parallel sides is 5 : 3, the length of the longer par-
allel side is :

At 3TN & Th &9 1 &9%d 1440 Ho2 T |
TR el % &= Wl o g0 24 Ho ® 1 AR
AT S3T o1 34U 5 : 3 8, d d8] FH 9l

i TS BN |
(1) 75 m (2) 45 m
(3) 120 m (4) 60 m

0:45




